First looks at DIRC PID likelihood in the
K'K1t'rtp final state
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Negative tracks in K+K-mt+11-, 1.01 < M(KK) < 1.03

Track Momentum [0,500) MeV

te
S
3

-150

-100

-50

50

100

150 200
In L) - In L(K)

Track Momentum [2000,2500) MeV

120

100

8

S

B0

40

20

-150

-100

-50

50

100

150 200
In L) - In L(K)

Track Momentum [4000,4500) MeV

e
S
3

-150

-100

-50

50

100

150 200

entries [#]

entries [#]

entries [#]

500

400

30

=3

200

100

E

200

18

S

18

S

14

S

121

S

10i

S

8

S

B

S

4

=)

20

E

100

80

60

40

20

Track Momentum [500,1000) MeV

00

n fed] Tt op 1ot o 0l
-150 -100 -50 0 50 100

Track Momentum [2500,3000) MeV

“is0 200
In Lix) - In L(K)

=
3

-150 -100 -50 0 50 100 5

Track Momentum [4500,5000) MeV

150
In L{x) - In LK)

200

-150 -100 -50 0 50 100 150

200

entries [#)

entries [#]

entries [#]

Track Momentum [1000,1500) MeV

@
=

rl
50 100

R Ml 18
150 200
In L{=) - In L(K)

Track Momentum [3000,3500) MeV

18

S

161

=3

14

=)

12

S

101

8

S

Ll

=)

4

=3

2

&

=)

=3
TT T[T VT [ TT T [TT T[T [ TI T [TT T[T T[T

1=
3

50 100

150 200
In L{x) - In L(K)

Track Momentum [5000,5500) MeV

il

=3

o
=)

4

S

3

=3

2

S

1

=)

7%00

—-150

-100

-50

100

150 200

Track Momentum [1500,2000) MeV

entries [#]

~
=}

=3
=3

-150

\ M\\..I.Ll

-100

1

mu_h.

50

1
In L{=) - In L{K)

Track Momentum [3500,4000) MeV

Jn )]
200

180

18

=3

entries [#]

14

=3

121

® 2
S 5 o

=)
=)

—%00

-150

-100

-50

50

100

5¢

150
In L{x) - In L(K)

Track Momentum [5500,6000) MeV

200

@
=

entries [#]

IS
=3

3

=}

2

=)

9

=4
3

-150

-100

-50

50

100

150

200



entries [#]

entries [#]

entries [#]

Track Momentum [0,500) MeV

N T Horarim 0300
T Entries 1530
= Mean -3.167
- Std Dev 9677
40—
30—
20—
10—
7\\\\Lll\\\\\\\LlH\\\[\\\\IJ\\\\\\\IH
T T - 0 50 100 150 200
In L{x) - In LK)
Track Momentum [2000,2500) MeV
e
200= Enries 22832
c Mean 2945
180 StdDev 5642
160[—
140
120
100
80
60—
40
20
= on il IR AP N
Bo0 450 ~100 =50 0 50 100 150 200
In L{x) - In LK)
Track Momentum [4000,4500) MeV
=
F Entries 10683
160 Mean 19
| Std Dev 16.83
140
120
100~
80
80—
40—
20—
%6650 00 =50 0 50 100

150 200
In Lx) - In LiK)

entries [#]

entries [#]

entries [#]

Positive tracks In
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ALL = In L(pi) — In L(K) cuts on ¢ signhal/background
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Signal/background determined from a Gaussian+polynomial
fit to the ¢ peak in the M(KK) distribution
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